A-Choose the best answer

1.	 Histopathology involves
	(a)	Microscopic examination of tissue
	(b)	Diagnosis of infective and inflammatory condition
	(c)	Prognostic information
	(d)	All of the above

2.	Cytopathology include
	(a)	Exfoliative cytology
	(b)	Mycology
	(c)	A & d
	(d)	Aspiration cytology

3.	 Situ hybridization  require
	(a)	DNA probe
	(b)	radioisotope
	(c)	A & b
	(d)	Not all of the above

4.	Immunohistochemistry is used for
	(a)	Typing poorly differentiated toumor
	(b)	Classification of glomerulonephritis
	(c)	A &b 
	(d)	Not all of the above

5.	Cytogenetics and molecular pathology are plying role in: 
	(a)	Clinical pathology
	(b)	Diagnosis of malaria
	(c)	A &b 
	(d)	Non of the above

6.	Mechanism of cellular injury
	(a)	The duration of the injury
	(b)	The ability of the tissue to regenerate
	(c)	The nature of the injurious agent
	(d)	All of the above
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7.	physical agents that cause cellular injury include
	(a)	truma
	(b)	toxins
	(c)	bacterial
	(d)     juice 

8.	chemicals agents that cause cellular injury include
	(a)	truma
	(b)	toxins
	(c)	bacterial
	(d)     juice

9.	infectious organisms that cause cellular injury include
	(a)	truma
	(b)	toxins
	(c)	bacterial
	(d)     juice 

 10.  dificiency of metabolites is one of mechanism of cellular injury which include:
	(a)	oxygen, glucose and hormon
	(b)	truma and osmotic pressure
	(c)	free radicals
	(d)	respiratory poisns

11.    dificiency of metabolites is one of mechanism of cellular injury which include:
	(a)	oxygen, glucose and hormon
	(b)	truma and osmotic pressure
	(c)	free radicals
	(d)	respiratory poisns


12.   the causes of mechanical disruption of cell which cause cellular injury  include:
	(a)	oxygen, glucose and hormon
	(b)	truma and osmotic pressure
	(c)	free radicals
	(d)	respiratory poisns

13.   the causes of cell membrane damage which cause cellular injury  include:
	(a)	oxygen, glucose and hormon
	(b)	truma and osmotic pressure
	(c)	free radicals
	(d)	respiratory poisns

14.    the term "Necrosis" means:
         (a)	cell death due to ischemia, metabolic and truma
	(b)	Programmed cell death
	(c)	apoptosis 
	(d)	Non of the above

16.	Types of necrosis is 
	(a)	Colliquative
	(b)	Coaqulative
	(c)	A & b
	(d)	Not all of the above

17.	Bacteria responsible for necrosis is
	(a)	E.coli
	(b)	Salmonella
	(c)	Clostridium
	(d)	All  of the above

18.	Apoptose is
	(a)	Programmed cell death
	(b)	Necrosis
	(c)	A & b
	(d)	Non of the above

19.    ………………… induced by physiological or pathological stimuli and accour in single cell:
	(a)	apoptosis
	(b)	necrosis
	(c)	immune
	(d)	All  of the above

20.    ……………. Due to pathological injury:
         (a)	apoptosis
	(b)	necrosis
	(c)	immune
	(d)	All  of the above


